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S(a)={a,b,d,f,h}  S(c)={b,c,d,e,f,h} S(e)={e}
Reachability sets:

The transitive closure:
T={(a,b) (a,d) (a,f) (a,h) (b,d) (b,f) (b,h) (c,b)

 (c,d) (c,e) (c,f) (c,h) (d,f) (d,h) (h,f)}
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S(a)={a,b,d,f,h}  S(c)={b,c,d,e,f,h} S(e)={e}
Reachability sets:

The transitive closure:
T={(a,b) (a,d) (a,f) (a,h) (b,d) (b,f) (b,h) (c,b)

 (c,d) (c,e) (c,f) (c,h) (d,f) (d,h) (h,f)}
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y2y1 y3 y4

7 6 2 8 1 3 11 12 5 4 9 10
L(y3)
L(y4)

L(y2)L(y1)
r:



|S(y1)|=3  |S(y2)|=8  |S(y3)|=4  |S(y4)|=2
We expect R(L(y4)) and R(L(y2)) to be smallto be large

y2y1 y3 y4
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S(a)={a,b,d,f,h}  S(b)={b,d,f,h}  S(c)={b,c,d,e,f,h}
Reachability sets:

S(d)={d,f,h}  S(e)={e}  S(f)={f}  S(h)={f,h}

For the order: r(e)<r(b)<r(d)<r(a)<r(c)<r(f)<r(h)
Least-elements are:

L(a)=b  L(b)=b  L(c)=e  L(d)=d  L(e)=e  L(f)=f  L(h)=f
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For the order: r(e)<r(b)<r(d)<r(a)<r(c)<r(f)<r(h)
Least-elements are: L(a)=b  L(b)=b  L(c)=e  L(d)=d  L(e)=e  L(f)=f  L(h)=f
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Some neighborhoods:
N(c,4)={b,c,d,e,f,h}  N(d,1)={d,h}  N(h,3)={h}
N(a,1)={a}  N(a,5)={a,b,d,f,h}  N(c,2)={b,c,d,e}
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Some neighborhoods:
N(c,4)={b,c,d,e,f,h}  N(d,1)={d,h}  N(h,3)={h}
N(a,1)={a}  N(a,5)={a,b,d,f,h}  N(c,2)={b,c,d,e}
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For the order: r(e)<r(b)<r(d)<r(a)<r(c)<r(f)<r(h)
Least-element lists:

a: (2,b) (0,a) b:(0,b) c:(2,e) (1,b) (0,c) d:(0,d)
e:(0,e) f:(0,f) h:(4,f)(0,h)










